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1. The new movie “ICE AGE" runs for 1hour 40 minutes. And the new
movie "The BFG" (which stands for “The Big Friendly Giant") runs
for 1hour 57 minutes. If Becky goes to see these two movies at
the theatre at 9.50 am, and they run one after the other with no
promos in between, at what time will the movies finish?

) i
ROLLICIAN E8uUREE

2. The 2016 Wimbledon tennis tournament is being played in London right now! In
the first round there were 16 men's and 16 women's doubles matches (a doubles
match has 4 players altogether). How many players played in the first round of
doubles matches at Wimbledon?

3. The cold weather has caused snow to fall in many parts of Australia
this past week! If the snow falls over a rectangular area of 10.5 km
by 8.2 km, how big is the area covered by that snow?

AUSTRAUA 51
tt =% 4. The cost of postage stamps in Austradlia recently increased from
s4¢ 70 cents to $1 per letter. If Jenny mails out 17 invitations to her
B 41 blr'rhday party, how much extra does she have to pay because of this
. price increase?

5. The maximum temperature in one Australian city over one week were as follows:
12°C,13°C, 15°C, 15°C, 11°C, 12°C and 13°C. What is the average daily maximum
temperature over that week.

6. The cartoon show "SHAUN THE SHEEP" runs for 9% minutes. How
many complete episodes could be shown, uninterrupted, in 2 hours.

n 7. The “FRED HOLLOWS FOUNDATION" can

u restore the eyesight of a person in an under-privileged country for

The Fred Hollows | just $25. If Emily's Year 6 class raises a total of $275 to donate to
Folncpion the Foundation, how many people's eyesight could be restored?

8. In Round 16 of the Euro 2016 Soccer Tournament, Iceland's team has beaten
England, 2 goals to 1. What percentage of Iceland's score did England get?

9. Open-Ended Question: In the Euro 2016 A«'
Soccer Quarter Finals, England was beaten by . ;.,, 5
Iceland, 1goal to 2. Iceland has a population of i- i.ﬁ At
33,000, while England has a population of -", =m ew o
55 million people. Do you think Iceland should have been expected to win that
soccer match? Explain your reasons.
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1.27 pm

128 players
86.1km?

$5.10 extra

13°C

12 episodes

11 people

50%

Various answers
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